PARTS LIST/ LISTE DES PIECES / LISTA DE PIEZAS

HF I—IC)()I(E:[{D ITEM NO. / ARTICLE NO. / ARTICULO NO. : P393240

FURNISHINGS DESCRIPTION / LA DESCRIPTION / DESCRIPCION: ASHER PARK LEG DINING TABLE/

TABLE A MANGER AVEC PIEDS/
MESA DE COMEDOR CON PATAS

s
A)

x1 Table Top x2 Table Leaf x4 Table Leg
x1 Dessus de table x2 Panneau de table x4 Patte de table
x1 Tablero de mesa x2 Extensién x4 Pata de mesa

I

)

x8 Allen Bolt @#5/16" x 64mm ¥
x8 Vis a téle creuse hexagonale 35/16" x 64mm

x8 Perno Allen @5/16" x 64mm x8 Arandela de seguridad 05/16"

C
3 T4

=

x8 Lock Washer 335/16"
x8 Rondelle de blocage B35/16"

=)

x8 Flat Washer @5/16"  * x1 Allen Key 4mm *
x8 Rondelle de plate @5/16" x1 Clé hexagonale 4mm
x8 Arandela plana ©@5/16" x1 Llave allen 4mm

*
Replaceable Part

Page 1 of 4 Residential Use Only Made in Viet Nam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to
www.myfurnitureinstructions.com




ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONSES DE MONTAJE

HF I—IC)()I(E;[{D ITEM NO. / ARTICLE NO. / ARTICULO NO. : P393240

FURNISHINGS DESCRIPTION / LA DESCRIPTION / DESCRIPCION: ASHER PARK LEG DINING TABLE/

TABLE A MANGER AVEC PIEDS/
MESA DE COMEDOR CON PATAS

Page 2 of 4 Residential Use Only Made in Viet Nam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to
www.myfurnitureinstructions.com



ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONSES DE MONTAJE

HF ‘ HOQOKER’ TEMNO./ARTICLE NO. / ARTICULO NO. : P393240

FURNISHINGS DESCRIPTION / LA DESCRIPTION / DESCRIPCION: ASHER PARK LEG DINING TABLE/

TABLE A MANGER AVEC PIEDS/
MESA DE COMEDOR CON PATAS

Page 3 of 4 Residential Use Only Made in Viet Nam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to
www.myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE

HF ‘ HOOKER ITEM NO. / ARTICLE NO. / ARTICULO NO. : P393240

FURNISHINGS DESCRIPTION / LA DESCRIPTION / DESCRIPCION: ASHER PARK LEG DINING TABLE/

TABLE A MANGER AVEC PIEDS/
MESA DE COMEDOR CON PATAS

«rzrr(((,rrr(r(rr@
: 0 j

S
x6 RP393240-L0CIi x 1 RP393240-HWKIT
Table L.OC,k Hardware Kit *
Verrouillé Kit de matériel
Bloquear Kit de hardware
*Replaceable Part
Page 4 of 4 Residential Use Only Made in Viet Nam / Fabriqué au Vietnam / Hecho en Vietham

For further assembly information, please go to
www.myfurnitureinstructions.com



	P393240-1
	P393240-2
	P393240-3
	P393240-4

